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<ATavy> =15 THBE/NER £i5iAL:  FCHZE
IE L FCHEZE FC/A—LEY FCE#F BEFC =Hsc AT AT ES
FCHEZE 0 [ 16 0 [ 2 - - 0 0 18 | -18
FC/R—LEY 16 O 0 - 14 O 0 — 6 30 0 30
FCE#F 2 (@) 0 - - 0 [ ) 1 3 2 1 1
&iEFC — 0 [ ] 14 — 1 ® 3 0 1 17 | -16
=HSC — — 1 O 0 3 O 1 6 4 1 3
<B7AvY> 215 HEITIIUR =iHEL:  )IIhESC
g 52 NI &SC JFILF—=FC KJF #&sc FEHEILFC Ba | sa| xa| 2
NP BSc 2 (e} 0 - 3 (@) 0 — 6 5 0 5
JILF—=FC 0 () 2 3 o 1 - 0 A 0 4 3 3 0
KJF - 1 ° 3 2 (@] 0 — 3 3 3 0
#&Sc 0 [ ] 3 - 0 [ ] 2 3 (@) 1 3 3 6 -3
JEHEILFC — 0 A 0 — 1 [ 3 1 1 3 -2
<c7zavyy> =i5: FA2HREAD =iFEL:. Ri5
IE L FCHIR FCt#§ &FSsc FC JETS Ba | Ba | k& =
1 FCHIR 0 ® 1 1 @) 0 5 (@) 0 6 6 1 5
2 FCt#E 1 (@) 0 3 (@) 1 1 ® 2 6 5 3 2
3 ZFSC 0 ] 1 1 ° 3 3 @] 1 3 4 5 -1
4 FC JETS (] 5 2 O 1 1 (] 3 3 3 9 -6
<D7Ovy> =i5: dHiHEZENLE =HIEE:  THAIFENSC
NE L TARNSC N REyh—X FC/AER F4SC s | ga | &s| =
1 TSAENSC 2 A 2 2 (@) 0 2 @) 0 7 6 2 4
3 |[nEhRFyH—X| 2 A 2 1 A 1 1 [ 3 2 4 6 -2
4 FC/AER 0 ° 2 1 A 1 1 A 1 2 2 4 -2
2 F4SC (] 2 3 O 1 1 A 1 4 4 4 0
<EJBvI> 215 hEI IR SHEY:  'BMFIO7A4—X
B sz BMEIo714—X &FC MESESC 1)JA—FC B | B | kA =
BMEIo714—X 1 (] 3 1 (] 3 — 0 2 6 -4
EFC 3 O 1 0 (] 4 0 ® 2 3 3 7 -4
1 MEAESC 3 O 1 4 (@] 0 1 (e} 0 9 8 1 7
1)/A—FC — 2 O 0 0 ] 1 3 2 1 1
<FJavyy> =15 FRAED =iGEY: ZEI1=7SC
JNE {32 ZEP21=TSC IEHREFESC JrF ¥ TsSC ~NJLTSC B | Ba | ks &
3 ZEC21=7SC 0 [ ] 6 0 [ ] 12 1 (@) 0 3 1 18 | -17
2 SEFHESC 6 (0] 0 0 A 0 14 O 0 7 20 0 20
1 JrFv>ISC 12 O 0 0 A 0 12 O 0 7 24 0 24
4 ~)LTSC 0 (] 1 0 [ 14 0 [ 12 0 0 27 | -27
<Gc7Zovy> =15 F42HEAD S5EY:  FESC
B Fsc hgoarva—Lu-12f BAEFEHSC FEFEFC AT AT S
4 sc 0 [ ) 10 0 A 0 0 [ ) 10 1 0 20 | -20
1 |gzar4a—ru-121 10 (@] 0 6 @] 0 1 @] 0 9 17 0 17
3 EREFELSC 0 A 0 0 [ 6 0 [ 8 1 0 14 | -14
2 h 8 EFC 10 O 0 0 [ 1 8 @) 0 6 18 1 17
<HZBAavy> =i5: AHiHEZEWNES =i5EY: +IFC
[ +!)IFC GHU £78sc HwEroa—7—Xsc| s | B s =
2 +!IFC 5 (0] 0 8 0] 0 0 ® 2 6 13 2 11
3 GHU (] 5 2 A 2 2 A 2 2 4 9 -5
4 £f8sc 0 [ 8 2 A 2 0 [ ) 5 1 2 15 | -13
1 | HEC2=7—XSC ©) 0 2 A 2 5 @) 0 7 9 2 7
<170vy> =i5: LRAB KHEHEL: )G D12 RFC
B3z NgF o125 AFC ELRAFC KZEKSC B{@FFC e | Ba | k& 2
N1 % AFC 0 [ ] 1 — 3 (@) 0 3 3 1 2
ELTRAEFC 1 (@) 0 0 A 0 — 4 1 0 1
KZEKSC - 0 A 0 — 1 0 0 0
B{EFFC 0 [ ) 3 — — 0 0 3 -3




<J7oys> =15 LRAA RiFiEL:  BFIFyHh—XFC
JIE 52 F)1lFvh—XFC ACE 4R N 35V EBSC FC JUNTOS s | Ba | kA £
F)IlFvh—XFC 0 (] 3 — 0 ° 4 0 0 7 -7
ACZE L B 3 (0] 0 0 A 0 — 4 3 0 3
1350 8BSC - 0 A 0 2 (@] 0 4 2 0 2
FC JUNTOS 4 O 0 — 0 (] 2 3 4 2 2
<KZB8vy> =15 £ HEAD =HIEE:  FESESC
B sz B{EESC FREFC AHFC BR/INESC e Ba | k& 2
1 RIFEFSC 8 (e} 0 3 (@) 0 2 (@) 1 9 13 1 12
3 FREFC 0 ® 8 0 A 0 0 ° 1 1 0 9 -9
2 AHhFC 0 (] 3 0 A 0 2 0] 0 4 2 3 -1
4 R/INESC 1 [ 2 1 O 0 0 [ 2 3 2 4 -2
<L7Zayy> =15 LRAA =£HEY:  BHESC
[ BHESC BFYFyX MEAHOFC WA TU—9qo5SC| B | Bl | ki | =
BEAESC 1 (] 6 — 0 [ 2 0 1 8 -7
Bl FvX 6 (@) 1 0 [ ] 1 — 3 6 2 4
MUHAOFC — 1 (0] 0 2 0] 0 6 3 0 3
W T)—9A4sc| 2 @) 0 — 0 ] 2 3 2 2 0
<MJBavyy> =i5: A ENLIS =518 : FCRE
JIE {32 FCHE FCRIARYURR ACTYJ—L mEgmo—7—xso| g | B | aa| =
1 FCHE 1 (@) 0 3 @) 1 3 @) 0 9 7 1 6
3 | FCEEEHEYUIR]| 0 ) 1 0 [ ) 6 1 ©) 0 3 1 7 -6
2 ACZY—L 1 [ ] 3 6 (e} 0 1 (@) 0 6 8 3 5
4 |reagmoa=7—xsc| 0 [ J 3 0 [ J 1 0 [ J 1 0 0 5 -5
<NJByy> £i5: hEISIUR SIGEY:  [EAFC
(=g MAFC KEisc I¥FC RESC Ba | Ba|l kAl &
mAFC 0 ° 5 - — 0 0 5 -5
1 KESC 5 (@) 0 2 (@) 0 2 (@) 1 9 9 1 8
S¥FC — 0 ® 2 3 @) 1 3 3 3 0
M ESC — 1 (] 2 1 ] 3 0 2 5 -3
<o7ayy> =i5: NAZBWNES =5{H%:  SOUTHFC
[t SOUTH FC AASC FRIFC HESC Ba | Ba | & 2
4 SOUTH FC 0 (] 9 0 ® 2 1 0] 0 3 1 11 | -10
1 AAKSC 9 (@) 0 2 (@) 1 2 (@) 0 9 13 1 12
2 FRIFC 2 (@) 0 1 ° 2 0 ° 1 3 3 3 0
3 #i4ESC 0 (] 1 0 [ 2 1 O 0 3 1 3 -2
<p7Bvy> =i5: LRAB =igAY: T2 T34SC
JIE {32 I PaAsc KBFSC KXEYTILXSC FFY43—L s | gs | &s| =
I PaAsc 0 A 0 - - 1 0 0 0
KBFSC 0 A 0 3 @] 0 — 4 3 0 3
KBEYTILXSC - 0 [ 3 3 o 0 3 3 3 0
FF94d—L — — 0 (] 3 0 0 3 -3




